(Esme, Sophie and Ollie)

























































3  x _____ = 273


(So I can do 273 ÷ 3 to find my missing answer)





______ x 4 = 832


(So I can do 832 ÷ 4 to find my missing answer)





______ ÷ 5 = 765


(So I can do 765 x 5 to find my missing answer)





______ ÷ 6 = 216


(So I can do 6 x 216 to find my missing answer)





5 x _____ = 1,415


(So I can do 1,415 ÷ 5 to find my missing answer)





_____ ÷ 8 = 1,322


(So I can do 8 x 1,322 to find my missing answer)











Solve the missing numbers in these questions by using the inverse.























